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Center 433.9500601 MH=z 15 ms/

Date: 3.MAY.2006 09:55:02

Total Time of Pulse Train with Blanking Interval = 72.444890 mS
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Center 433.9500601 MH=z 15 ms/
Date: 3.MAY.2006 09:55:59

Total Time of Pulse Train = 45.090135 mS
Total Time at 0% = 27.354755 mS
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Total Time of the Large Pulse = 3.126253 mS
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Total Time of the One Small Pulse = 841.683367 uS
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Total Time of the One Medium Pulse = 1.442886 mS
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Center 433.9500601 MH=z 6 ms/

Date: 3.MAY.2006 10:01:29
Delta Between Maximum and Minimum Amplitude = 25.53 dB

Total Number of Large Pulses = 1 * 3.126253 mS = 3.126253 mS
Total Number of Small Pulses = 12 * 841.683367 uS = 10.1002004 mS
Total Number of Medium Pulses =9 * 1.442886 mS = 12.9859764 mS

Total Time at 100% Amplitude = 26.2124298 mS
Total Time of Minimum Amplitude = 18.8777052 mS
Amplitude difference between 100% and Minimum Amplitude = 25.53 dB
Effective On Time of Minimum Amplitude Portion = 998.73254 uS
Total Duty Cycle =27.21116234 ms / 72.444890 ms = 37.5611894 %



